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General Instructions :
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(i)  All questions are compulsory.

(ii)  Question numbers 1 to 10 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii) Question numbers 11 to 20 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Question numbers 21 to 30 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Question numbers 31 to 35 are of six marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 35 is based on Map. Write the answer in your Answer-Book.
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Fill in the blanks with appropriate words :

First Gulf War was fought against in which troops from
countries fought.

T FT 3T § 2 1
What does the word ‘hegemony’ imply ?
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Correct the following statement and rewrite :

Eight temporary members of the U.N. Security Council are elected by the General
Assembly for a period of three years.

T T T Fared HEHAT FT FEed 8 2 1

What is the highest functionary of the U.N. called ?

TS YIS 3TART Sl NAIE 1 STER 3741 &1 2 1

What was the basis of the report of the States Reorganisation Commission ?
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e I o il T A § B U A 415 T St 2 ST GHT TFHA DI AT 2 %+%=1
In which year did the Congress Party win 415 seats in the Lok Sabha ? Who became
the Prime Minster then ?

: 1 1
fFrefefaa AR fo Aaret gry faw e 2 E+E=1
(i) ¥ Sfam, 519 feam
(i) TR gera
Name the leaders who gave the following slogans :

(i) Jai Jawan, Jai Kisan

(i) Garibi Hatao

THHATEY AEdT § T-HUTATE & T H B A Y 7 1541 2 1

Which theoretical argument did Rammanohar Lohia give in defence of non-

Congressism ?

aTe! fariet Stiier /T a1 2 1

What was the Anti-Arrack Movement ?

HHEH TRIE & foog fhel o &der ge1eil &l Ieei@ HIT S wAlhes & foiw @er

o ' 1. 1_
32

Mention any two incidents of violence against the minority community which are a

threat to democracy ?

iferaa TTtfcreh HoTett i foheei a1 foreraansti &1 Seera ity | 2x1=2

Mention any two characteristics of the Soviet Political System. :

ATATRET | 31 8 g5 fohat Iy o eldl @1 2 I8 e 9% e THI gl ? 1+1=2

For how many years did the Civil War continue in Tajikistan ? When did it come to
an end ?
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g T F A | 9T T G &F 7 F IRe FGar] & 20 H 31 78T ¢ 2 2.x1=2
In the European Union Flag, what does the symbol of ‘twelve gold stars in a circle’

signify ?

ezl foete o STIRYT ST AR “STRIA THEATSE e -1 41 2 2

What was the ‘Operation Infinite Reach’ ordered by President Clinton ?

AT & Tl g TeTITdesh TR0 T Seei@ it | 2x1=2

Mention any two political consequences of globalisation.

T o T 9%, YR % GHeT 3T fobl 31 ATl ol 3ot &g | 2x1=2

Mention any two challenges that India faced just after Independence.

IS & anfgardt et |, ST o | anfeantaa SR uaiervieast & fhd TR F e d 2 2

What were the fears of tribal population of Orissa and environmentalists about
setting up industries in the tribal districts ?

¥iid g & IR AR A1 @Ht § | fordt ot ue % e wimfera i 1@l g3 2 2

Why did India not join either of the two camps during the Cold War ?

THR G Y G FaH & oY, IR 69 gia= 3 ™9 SRaredl 1 BRI o, 3949
T foFel =R it gelias HifT | 4x%=

List any four activities conducted by Bharatiya Kisan Union to pressurize the state
for accepting its demands.

1984 | 2004 TH HiUY X ST (S1.51.4T.) T IATET FR-SIT BT TEeTal URGTA HaT &7 2 2

What was the change in the electoral performance of the Congress Party and BJP
from 1984-2004 ?



21, TE-FRUE iR % fHRl 31 SRR % A ey | e T U SR e e
TS 17 RISl TR 97 2 1+3=4

Name any two founders of Non-Aligned Movement (NAM). The first NAM summit
was the culmination of which three factors ?

22, “gRor uivrEn | etk % Hel-Set Repre % aens gior TRTEE S i Std, wiehas
T ST THRT Tt & | AT HitT | 4

‘Despite the mixed record of democratic experience, the people of all the countries of
South Asia share the aspirations of democracy.” Explain.

23. WgH T H AU TRATE S F 6T T8 FEE-9 g/ 2005 § GHC U R W)
ﬂﬁﬂ’f'ﬂ-ﬁﬂﬁﬁ?{aﬁﬁrﬂl 4x1=4

List any four steps suggested by the member-states of the U.N. in 2005 in order to
make the United Nations more relevant.

24. R I G WENA % {6l IR Feahl Bl Wi T BT | 4x1=4

Explain in brief any four components of India’s security strategy.

25. ‘dfvass WEf 9T ¥ = AhE 7 2 SE QO & 6 iE & g9 s | 2+2=4

What is meant by ‘Global Commons’ ? Suggest any two steps for the protection of
‘Global Commons’.

26. AYETHIUT T YIS fAET | F¥eiehioT 3 fehei ol SHRUN i AT HIT | 1+3=4

Define Globalisation. Explain any three causes of Globalisation.

27. Tr=fefEa = g« =ife 4x1=4
@) . = e () 3o
@) . meeEiE (i) ST 1
@M TR e (i) T
(&) i FRE (iv) 9 ehrl Gt
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Match the following :

(a) Ch. Charan Singh (i) Industrialisation
(b) P.C. Mahalanobis (ii) Zoning

(c) Bihar Famine (ii1)) Farmers

(d) Varghese Kurien (iv) Milk-Cooperatives

28, fasaa o1 AT F A1 ? WRA 3R =T & d9 I a9 H [Gu FY a9 T4 9 AT

HIAT | 2+2=4
What was the Tibet issue ? How did it cause tension between India and China ?
Explain.

TR ST T 1A S AHYEH ST HINT Tl F=reArEd U9AT o ST [y
(i) A T H TAwaT JEIS’ B UgH The g AK P YgHNT q™T IGH A
fefam |

(i) A | @ T e At B 9, 0 A H 6 TSI g W Sy @l
T '

(iii) 39 THE B TG U, A W IS §Y AT 51 &1 18 2
(iv) A o Ta % foTq STRETE! fob HEl bt e | ISR foham T € 2
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, LOOK, HE IS TRYING

\ 1o SUBVERT SEMORRCLZ)

CREATE CHROS, GRAB
(POLER ..., .. s

Study the cartoon given above carefully and answer the following questions :

(1) Identify and name the person holding in his hand, the placard ‘Save
Democracy’.

(i1) In your opinion, the group of five persons belongs to which political party ?

(ii1)) According to the group of five, what are the intentions of the person sitting on
‘Dharna’ ?

(iv) Which issues responsible for the downfall of democracy are highlighted in the
cartoon ?

A FHaer g qieierat & forg, Ty W& 29 F = W

FAfafEd u9AT % W @A : 2+2=4
@0 foenfaat & Ry R, foer sticiem &1 9y S e @i a2 @igla 3 9
Te 3G 4T I @ 2

@) U AR & fF= < T Rl F oo HIT |
Note : For Blind Candidates only, in lieu of Question No. 29.

Answer the following questions :

(@) Who accepted the students’ request to lead the Bihar Movement ? Which
condition did he lay before giving his consent to lead ?

(b) Mention any two main objectives of his movement.
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30. WRA H TESEEH i TSI 1 U T QI el AT Tl T g3 2 1+3=4

When and why did a long phase of coalition politics begin in India ?

31, 2 ARG 3T e Sl =7 HY g ? 3FHeS (UNCTAD) = 1972 i Ao Rare 1

o1 QU =t wTtera T 2 2+4=6
reraT

fecita fava g5 & ovam, Sfoad 99 # U T a0 § WS Bl ©; SRS Bl

ST HIY | 6x1=6

How did the “New International Economic Order’ come into being ? Which reforms

were proposed by UNCTAD in its report in 1972 ?
OR

Explain any six factors which helped the Soviet Union in becoming a Super-Power

after the Second World War.

32. 3wt Wifsk % AT § fl b STaRigl o el Sy | 3x2=6
argEn

1962 % qF § RA H AHF W ol I8! R TRA-9H Tl W IHH JHHIeTeh
3G ET | 1976 T ST S % S Feiaer Goy TS & © | 39 a5 4R-4 41 &
=i T H GuR E g7 | 1970 % 391 % SIS A i ST AT Aged Sgell | =
i # ot 79 RS TRl e ARG e T & ¢ /e 91 SR & qre
Tay URA & A faamRre amet & sied S ddr) @ T | 1981 ¥ 9 faaret ® @
HH & [T ararsit i F@er ot & & T | 2+1+1+2=6

FW ST T SR T YA AT BT q fHefaiad g9t % S fafa
(i) 1962 % WY F URUTHGEY, YR Sl Uie Wed 1 St I8l ?

(i) 9RA SR =T F Ty HR-4R e GERA TR 8T 2

(iii) TR % SUH T A B AT A T IR g7 ?

(iv) dimn foars @t gerem & fow o | v e o
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Explain any three constraints on the American power.
OR

The conflict of 1962, in which India suffered military reverses, had long-term
implications for India-China relations. Diplomatic relations between the two
countries were downgraded until 1976. Thereafter, relations between the two
countries began to improve slowly. After the change in China’s political leadership
from the mid to late 1970s, China’s policy became more pragmatic and less
ideological. So it was prepared to put off the settlement of contentious issues while
improving relations with India. A series of talks to resolve the border issue were also
initiated in 198]1.

- Study the paragraph given above carefully and answer the following questions :
(i) Why did India suffer military reverses as a result of the conflict of 1962 ?
(ii)) When did the relation between India and China slowly improve ?

(ii1) What was the change in the policy of China in the seventies ?

(iv) Which efforts were made to resolve the border issue between India and China ?

33. YRA™ TSHITGS UREYT § NPT A1 9 a% SiUF H T S0 W@ § Wew bl

I BRI T eI BT | 3x2=6
AT

e wifad 1 ot 2 3% fel 3 UPRIeAS T fH=l I THRIHS UNOIH B Seoid

T | | 2+2+2=6

Evaluate any three factors that helped the Congress to continue to dominate the
Indian political scenario for almost three decades after independence.

OR

What was Green Revolution ? Mention its any two positive and any two negative
consequences.

34. 1970 & TIF & URMIH a6t H, R MH B WHR 6 AH0T T H TEEF [Fel o
HHI T ARAT HIT | 6x1=6

Hqar

‘1977 % g & II%, Tgelt IR H5 | foUelt Il St WHR S |” W 9] & (bl 9
ST ST TR SHITTT |

Explain any six factors which led to the popularity of Indira Gandhi’s government in
the early 1970s.

OR

“The 1977 elections for the first time saw the opposition coming to power at the
centre.” Examine any six reasons for this change.
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35. ST 3TRICHI A SAlhad i ST TEA bl STUET, SUHT IR foha Wb fopa 2 6

SR U T 9Ra & Tk Y@ aEtE | v T A), ®, ©, @, ® 7= (F) s
TOIT T & | 2004 H §C, G F G % NOMHT P A= H @ g 91 A &
SR % 3UR W, 37 T s T@=H0 ool 39 et 9, Fefafaa @iferer & &9 ¥,
AT IR e | feafa :

TEEE H AH WX (AEF) T A

() < TST ST AT gt el A oAl 9T i die 9gHa 9 St |
(i) T TT . G T A Al G GE TgAT | St |
(iii) 3 T ST Z AT, A FAlH GHT FIS FgHT | et | 2+2+2=6
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How have popular movements contributed to the expansion of democracy rather than
causing disruption ?

OR

™
<: LOK SABHA ELECTION

Lw RESULTS 2004
¥

In the given political outline map of India, six states have been labelled as @, ,

©, @, ® and ® Keeping in mind, the Lok Sabha Election results of 2004 and
with the help of the information provided below, identify these states. Write their
correct names in your answer book in the following tabular form :

Name of | Alphabet (A to F) | Name of the State
Coalition

(i) Two states where the Left parties won the majority of Lok Sabha seats.
(ii) Two states where the NDA won thé majority of Lok Sabha seats.

(iii) Two states where the UPA won the majority of seats in Lok Sabha.

59/1/1 11 [P.T.O.




e : Frafafas uy Fae ghege wianedl & T um Ser 35 F e 2+2+2=6
(3 T TSl % QU AW fofEy : (i) ZWE @) (i) TEELT (Te)
@) 2004 H 69 YT | THR TE ? TS el &l &I YHYF Tl & A1 faray |

@) T siaat & foe diel % e % 9 o sfueie TsHiae o 6 a1d I gend
g 2

Note : The following questions are for Blind Candidates only in lieu of Q. No. 35 :
(a) Write the full forms of the coalitions (i) UPA and (ii) NDA

(b) Which coalition came to power in 2004 ? Name its any two major supporting
parties.

(c) What was the consensus amongst most parties on the issue of reservation of
seats for the backward classes ?




